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 :  
 :   

 : ,   
 : , ,  

 :    
 :            

  
 :  , ,     

.   . 
 :      . 

   :  
2. .1.3.2.  ,  ,     , 

, , ,      
 .   

2. .1.3.3.     (  , ,  
,        ). 

 :     ,   ,   
  ,          

,     ,    , 
       

 :   ,      
,      ,      

:           , 
: . , . ,      , : 

. , . , .  
 :  ,   

 
  : 5  

 
         . : 

   ( ) cbxaxxf ++= 2 , 0≠a           Rcba ∈,,      
 . 

 
  : 35  

                      
      8 : 

 
1.   ( )  

       R. 
 D=R. 

 
2.   y- .  x=0  y=c,    
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    A(0,c). 

 
3.    ( ) cbxaxxf ++= 2   

   02 =++ cbxax  (  y=0 
   ).     

    x- .     

   . 
a

acbbx
2

42

2,1
−±−=        

       je D>0,  
    D=0    D<0    

 . 
 
 
 
 
4.    :   ( ) cbxaxxf ++= 2  

   −−
a

bac
a

bT
4

4,
2

2

.  

 
   a<0  ,                               a>0  .  

 
 
 
5.   .      a, 

 : 

a<0                                       a>0  

 

                     
 
 

6.   .      D  
 a,  : 

a>0    D>0          a>0   D=0                                         a>0   D<0                               
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a<0    D>0          a<0   D=0                                         a<0   D<0                               
 
 
 
7.   . 
8.   ( )       . 

                     a<0                                        a>0 
 

                     
  

:  

1)     ( ) cbxaxxf ++= 2 ,  : 1) [ )+∞−∈
>

,2
0

y
a

       2) [ )+∞∈
>

,0
0

y
a

        

3) [ )+∞∈
>

,3
0

y
a

 

 
2)     42 ++= mxxy .       

  m=5, m=0, m=4. 
 

  : 5  
 

   : 257, 258, 259 
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  :  _____ 
 

 :  -  
 :   

 :   
 : ,   
 :  

 :    
 :            

  
 :  , ,     

.   . 
 :      . 

   :  
2. .1.3.2.  ,  ,     , 

, , ,      
 .   

2. .1.3.3.     (  , ,  
,        ). 

 :     ,   ,   
  ,          

,     ,    , 
       

 :   ,      
,      ,      

:           , 
: . , . ,      , : 

. , . , .  
 :    

  
  : 5  

 
         . 

 
  : 35  

 
      

1) (267. )         ) 322 +−= xxy            ) 
2
32

2
1 2 ++= xxy  

2) (268. )        ) xxy 22 −−=               ) xxxy −+−= 2  

3) (269. ) (  )       ) 342 +−= xxy            ) ( ) 13 +−= xxy  
 

  : 5  
 

   : 267. , , ) 
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  :  ______ 
 

 :   -  
 :   

 :    
 : ,   
 :  

 :    
 :            

  
 :  ,    

 :      . 
   :  

2. .1.3.2.  ,  ,     , 
, , ,      

 .   
2. .1.3.3.     (  , ,  

,        ). 
 :     ,   ,   
  ,          

,      
 :       
:           , 

: . , . ,      , : 
. , . , .  

 :    
 

  : 5  
 

         . 
 

  : 35  
 

 (    –       ,    
   ,      2,   3,   4,  

  5) 
 
1. (250.)    ( ) cxxxf ++= 52 .  Rc ∈ ,  : 

) ( ) 20 =f  ) ( ) 41 =f  ) ( ) 102 −=−f  

(254. ))    ( ) 2

2
1 xxf −=  

(267. ))       ( ) 342 2 −+−= xxxf  
 

2. (251)    ( ) cbxaxxf ++= 2   cba ,, ,  
     (2, 18), (-3, -12), (3, 42) 
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(257. ))     ( ) 562 −−−= xxxf  
( 267. ))       ( ) 452 2 +−= xxxf  

3. (253)   ( ) cbxxxf ++= 2   cb, ,     -  
   (2, 0), (-3, 0). 

(261)    ( ) 1
4
1

16
1 2 −+= xxxf      (-1,5)? 

(267. ))       ( ) 42
2
1 2 −+−= xxxf  

4. (267. ))       ( )
2
32

2
1 2 ++= xxxf  

(272. ))   ( ) qpxxxf ++= 2   qp, ,    

  -     (-7, 0), )0,
2
1( . 

(275)      m  
( ) ( ) 10012 +++= xmmxxf  - ? 

 
  : 5  

 
   : 268. ), 269. ) 
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  :  ______ 
 

 :   -  
 :   

 :  
 : ,   
 :  

 :    
 :            

  
 :  , ,     

.   . 
 :      . 

   :  
2. .1.3.2.  ,  ,     , 

, , ,      
 .   

2. .1.3.3.     (  , ,  
,        ). 

 :     ,   ,   
  ,          

,     ,    , 
       

 :   ,      
,      ,      

:           , 
: . , . ,      , : 

. , . , .  
 :    

 
  : 

 
  : 5  

 
         . 

 
  : 35  

 
1)   cxxy ++= 52     c    

( ) 125 −=−f . 
2)    cbxaxy ++= 2  ako je 

0,0,0,0,0 21 ≠>><< Dxxca ,       

3)    cbxaxy ++= 2  ako je 0,0,0 21 <+<< xxca ,   
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4)    cbxaxy ++= 2  ako je 0,0,0 21 <+<> xxca ,   

    
 
5)    cbxaxy ++= 2    a,b,c tako    

     A(-10,-3), B(0,7) i 
2
9,5C .    

6)    012 =−+− mmxx     m  
 2

2
2
1 xx +   .  

7)    ( ) 025166 22 =+−−+ mmxmx     
 m  3

2
3
1 xx +   . 

 
8)     x  ( ) ( ) ( )222 cxbxax −+−+−   . 
 

 
  : 5  

 
   : 274, 276, 280 

 
  : 

 
  : 5  

 
         . 

 
  : 35  

 
1)   ( ) ( ) 1212 2 −+++−= kxkxky     k   

   ( y>0 )   Rx ∈ . 
2)   ( ) kkxxkky +−−+= 432 22      k   

   ( y>0 )   Rx ∈  
3)   Ra ∈     axx =−− 322     . 

4)  Ra ∈     axx =−− 142      . 

5)  Ra ∈     2xxax −=−       

6)     
yx

E 11 +=    + =5. 

 
  : 5  

 
   : 279 
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  :  _______ 
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 : ,   
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 :          
 

 :  , ,     
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 :      . 
   :  

2. .1.1.6.           
   

2. .2.1.7.      . 
2. .3.1.5.        

 :     ,   ,   
  ,          

,     ,    , 
       

 :   ,      
,      ,      

:           , 
: . , .  

 :   
 

  : 
 

  : 10  
 

         . 
 
          

 .  
 :      32 2 −+ xx  
 

  : 30  
 

   ?  
  ( )002 <>++ cbxax               ( )002 ≤≥++ cbxax  

 
            

   ,      . 
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   : 
 
1) 0342 <+− xx                                          
2) 0232 ≤−+− xx           
3) 0232 2 ≤−+ xx                                       
4) ( ) 025 2 >−x                                              
5) 0134 2 <−+ xx                                      
6) ( )( )( ) 05234 >−+− xxx  

7) 1
63
42 >

+
−

x
x                                                

8) 2
12

1 ≥
+

−
x

x                     

               
 

  
   
 9) 0962 ≤+− xx                                       
10) 0652 2 >+− xx                                    
 
 
                     
 

  : 5  
 

   : 290-292 
 

 
  : 

 

  : 5  
 

         . 
 

  : 35  
 

 : 
 

1)  0
253

32
2

2

≥
+−−

−+
xx

xx                       

2)  0
102
245

2

2

<
−−
+−−

xx
xx                         
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3) 1
23
23

2

2

≥
++
+−

xx
xx   

                    

4) (292. ), ) 
2

8
12
1011

+
≥

−
−

x
x

x
x                    

               

5) 
xxx −

>
+ 33

1
1

1                     

              

6)  1
32

5 2

>
−

−
x

x      

 

7) 7) ( )
42

82
2
2

2

3
2

−−
+>−

−
+

xx
xxx

x
x               

 
 
 

  : 5  
 

   : 295-298 
 
 
 
 
 

  : 
 

  : 5  
 

         . 
 

  : 35  
 

1.      k      x : 
    a) 322 ≥+− kxx                    b) 322 <+− kxx               v) ( ) 02321 2 >−++− kkxxk  
 

2.        ( ) 0232 =+++− kxkx   
 21 , xx     021

2
2

2
1 >+++ xxxx  

 
3.   

1. (302. ))   1552 <+− xx  
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2. (303. ))       2
65

3
2 ≥

+−
−

xx
x

              

3.  1
32

42
2

2

>
−−

−−−

xx

xx
 

 
 
 

  : 5  
 

   : 293, 300-303 
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  : 
  

  : 5  
 

     .  
 

  : 35  
 

            . 
         ,   
  .     : 

 

                                                
 

                                     
 
 

  : 
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1)                                                          2)                             
 

3) (364. )                                     4) (364. ), )                
 
 

5) (360. ), )                       6)              
 
 

7)                        8)        
          
 
 

  : 5  
 

   : 360, 364. 
 
 
 

  : 
  

  : 5  
 

  .  
 

  : 35  
 

 :  
 

1)                                                 2)             
                                                                                               (  ) 

3)                           4)           
                 (  )                                                (   ) 
 

5)                                       6)      
           
 

  : 5  
 

   : 362 
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  :  ________ 

 
 :      

 :  
 :  

 : ,   
 :  

 :          
 :          

 :  , ,     
.   . 

 :        
   :  

            
 :     ,   ,   
  ,          

,     ,    , 
       

 :   ,      
,      ,      

:           , 
: . , . ,      , : 

. , . , .  
 

  : 5  
 

         . 
 

  : 35  
 

1.   m       

    

2.        

m     . 
 

3.     :   
 

4.    :      
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5.       
m        . 
 
 

  : 5  
 
 

 :    :  
 

1)   m      : 

      
 

2)        m 

    
 

3)     :  
 

4)    :           
 

5)       m 
       . 
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  :  ______ 
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 :  
 : ,   
 :  

 :        
 :       ,      

  
 :  , ,     

.   . 
 :       

  
   :  

2. .3.1.5.        
 :     ,   ,   
  ,          

,     ,    , 
       

 :   ,      
,      ,      

:           , 
: . , . ,      , : 

. , . , .  
 :   

 
  : 

 
  : 5  

 
         . 
            

        . 
 

  : 35  
1:       : 

. 

2:        

:  
1. (370. ), )  3452 −<+− xxx  
2. (370. ), ) ( )( ) xxx 2323 +<−−  

3. (371. ), ) 342 −>− xxx  
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4. (371. ), ) 2122 −>−− xxx  
 

  : 5  
   : 370, 371 (  ) 

 
 

  : 
 

  : 5  
 

         .    
  .  

 
  : 35  

 
    ,      (  372  374), 

        ,   ,  
     . 

 
:  : 

1. (372, ) ) 222 >−− xx   ) 2
21
2 −>

−
−

x
x   

) 
2
3

1
162

≤
−
−

x
x   ) 2

2
742

<
−

+−
x

xx  

2. (373, ) ) 
4

5
7

−
>+

x
x   ) 

3
111 2

≤−−
x

x   

) xx −<+ 42   ) 1
2

13
2 <

−+
+
xx

x  

  
3. (374, )  ) 5216 −++>+ xxx    ) 4532 <−−− xx  

 ) 213 −+−>+ xxx   ) 11 +>−+ xxx    
 ) 275193137 −+−>− xxx   ) 34253 −>−+− xxx  

 
  (   ):  

4.  : (462. ), ) 
x

x
xx

x 1111 −>−−−   

 
  : 5  

 
   : 372-374 (         ). 
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  : 
 

  : 5  
 

         .    
    .  

 
  : 35  

 
    ,      (  375  379), 

        ,   ,  
     . 

 
 

1. (375, )   
) 1552 >++ xx                                         ) 112 <−− xx   

 
) 32353 2 +>−− xxx                              ) 22123 2 −≥−− xxx   

 
             ) 338 >−+− xx                                    ) 610 22 −>− xxx  
 
             ) xxxxx 2653 22 +<−+                           ) 393 4 >−++ xx  
 
 
   
 

2. (376, )  : 421027223 =+−+++−+ xxxx  
 

3. (377, )    : 1168143 =−−++−−+ xxxx  
 
 

4. (378, )  :   
) 11 =−−+ xxx                 ) 21145 −+=+−+ xxx   

) 21212 =−−−−+ xxxx  
 

  : 5  
 

   : 376-378 (         ). 
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 :   
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 :  

 :          
 :          

 :  , ,     
.   . 

 :        
   :  

            
 :     ,   ,   
  ,          

,     ,    , 
       

 :   ,      
,      ,      

:           , 
: . , . ,      , : 

. , . , .  
 

  : 5  
 

         .  
 

  : 35  
 
1. (401, )   k     0444 22 =−+− kkxx  

  (-3,4). 
 

2. (386, )    023)1(22 =+++− axax ,   a  .  
1)     a   ? 
2)     x1  x2      a? 
3)             . 
4)    a         

  . 
 

3. (  , , 2013) 

    (     ):          
1

2
33 −=+
=+

yx
yx
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(  , , 2013) 
  x1  x2   032 =++ mxx .    m  

   3
212

3
1 xxxx +     : ) [2,3) ) 

[1,2) ) [4,5) ) [3,4) ) [0,1) 
 

  : 5  
 

 :             
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3.     

 
    –    

     ( , ).  
    .  

  .  ,  .    
 .  

  , .  .  
     (   ).  

    . 
 
 
 
 
 

  : ____ 
 

 :  . 
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 : ,  ,  . 
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 :     
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    ,  ,   
  . 

 :        
   : 

2. .1.3.2.  ,  ,     , 
, , ,      

 .   
 :     ,   ,   
  ,    ,    
    
 :   ,      

,       
:           , 

: . , . ,      , : 
. , . , .  
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  : 10  
 
           . 
       ,     

. 
 

   ( ) 1,,0 ≠+∞=∈ + aRa ,     
+→ RRf :   ( ) xaxf =        .  

 
        . 

 
  : 30  

 
 1.    ( ) xxf 2= .  

 
 
 

 
     : 

 
     

 
•   ( )   

 R 
•     -   

02 >x , Rx ∈∀  
•         

 ( ) xxf 2=  ,   
     R 

•     (0,1),  
 >0  12 >x ,   <0  120 << x  

•              ,   
           "1-1" 

  R   +R  
•    ( )   +R  

 
 

   :  
 

( ) xxf 2= ,  ( ) xxf 3= , ( ) xexf = , ( ) xxf 10=    ......   
 
(       ) 
 

 -3 -2 -1 0 1 2 3 
x2  1/8 1/4 1/2 1 2 4 8 
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  ( ) xaxf = , 1>a   . 
 

     x10  
xe       2,71828183, 

    . 
 

 2.    ( )
x

xf =
2
1 .  

 
 
 

 
     : 

 
      

 
•   ( )    R 

•     -   0
2
1 >

x

, 

Rx ∈∀  

•          ( )
x

xf =
2
1  ,   

     R 

•     (0,1),   >0  1
2
10 <<

x

,   <0 

 1
2
1 >

x

 

•              ,   
           "1-1" 

  R   +R  
•    ( )   +R  

 
 
 

    :  
 

( )
x

xf =
2
1

,  ( )
x

xg =
3
1

, ( )
x

xh =
4
1     ....   

 
(       ) 
 

  ( ) xaxf = , 10 << a     .  

 -3 -2 -1 0 1 2 3 
x2  8 4 2 1 1/2 1/4 1/8 
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  ( ) xaxf =        a>1,     
 <1. 

               
         

  x
x

a
a

−=1     

( ) xaxf =     - .  
 

 3.     xy 2=  
xy −= 2    

       (       
) 

 
 
 

  : 5  
 

   : 474 
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  : _____ 
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 :    

 :  
 : ,  ,  . 
 :  

 :     
 :      

 :  , , ,   
  

 :       
   : 

2. .1.3.2.  ,  ,     , 
, , ,      

 .   
 :     ,   ,   
  ,    ,    
    
 :   ,      

,       
:           , 

: . , . ,      , : 
. , . , .  

 :   
 

  : 5  
 
    
 

  : 35  
 
 
1.    

( ) xxf 2= ,    
   
 

 
1) ( ) 121 += xxf    (476. ) 
        
2) ( ) 122 −= xxf       
    
3) ( ) 423 −= xxf  
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   ( ) xxf 3= , 
     
  

 
1) ( ) 1

1 3 += xxf            
 
2) ( ) 2

2 3 −= xxf        
 

3) ( )
1

3 3
1 −

=
x

xf                 

 
 
 
 
 
 

 
2.        : 
             ) xy −⋅= 32  ,       2−>x                                         ) 93 −= xy  ,       20 ≤≤ x  
 
 

  
 
3.    ,   

1) 
5

2
1  

3

2
1                2) 

2

3
1 −

 
3

3
1 −

        3) 21,1    4,11,1           4) 22,1 −   32,1 −  

 
 
 

  : 5  
      

   : 476 
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  : ____ 
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 :  
 : ,  ,  . 
 : , , ,  

 :    
 :      

 :  , , ,   
  

 :     
   : 

2. .1.3.2.  ,  ,     , 
, , ,      

 .   
2. .1.3.3.     (  , ,  

,        ). 
2. .1.3.4.        , , 

       . 
 :     ,   ,   
  ,    ,    
    
 :   ,      

,       
:           , 

: . , . ,      , : 
. , . , .  

 :   
 

  : 5  
 
    
         . 
 

  : 35  
 

1.    =2000    
10%  .   

  n     
 ,   ? 

      : ( )n
n

n
pKK 1,12000

100
1 ⋅=+⋅=  

n 0 1 2 3 4 5 
nK  2000 2200 2420 2662 2928 3221
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2.        ,      
.  ,          

( ) ( )xxf −−= 311000 ,            
.      ,    . 

 

        :        

( )

( )

( ) 963
27
1110003

889
9
1110002

667
3
1110001

=−=

=−=

=−=

f

f

f

 

 
 
 

 
 
3.      

   
   
   

    
  : 

( ) 131
1

++
= tytf .    t 

    
  ,     

      .    
  .         80  

,    =80,           20 
,  1          10, ... 

 
 
 
4.     2011    7120666.     

 0,739%,       2020 ? 
 
      ( ) 666083100739,017120666)( 9 =−⋅=xf  
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    baxf x +=)(    
     . 
 

 

   

22)(

2020)(1

211)(0

1

0

−=

==−==

−=−=+−==

xxf

aaxfx

bbaxfx

 

 
 
 
 
5.     baxf x +=)(   

      
 

 
 

   

1
2
1)(

2
1313)(1

122)(0

1

0

+=

==+=−=

==+==

−

x

xf

aaxfx

bbaxfx
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    : 475 
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  : ____ 
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 :       
 :        
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 :        

   : 
2.MA.2.1.6.             
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 :     ,   ,   
  ,    ,    
    
 :   ,      

,       
:           , 

: . , . ,      , : 
. , . , .  

 :   
 

  : 5  
 

  . 
 

            
.       

                                                0>a  1≠a          yxaa yx ==  
 

  : 35  
 
1)   : 

1) 0162 =−x        [ 4= ]        

 2) 416
1

=
−

x             [ 2−= ]   

3) 64
4
1 =

x

        [ 3−= ]        

4) 3 24 =− x         [
6
1−= ]                               
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5) 
4

22
5,0

3 =x        [
2
1−= ]     

6) x

x

a
aa

3

=           [
2
3,2,3

2
1, 21

23
2
1

=−=−==
−

]                             

8) 
xx 216 162 =   [

3
2= ]         

 
2)  : 
 

1) 32054 2 =⋅ −xx          [ 3= , 320   ]                               
2) 3024732 352 =⋅⋅ −− xxx    [ 4= ,   ]                                             
3) 2173 2 =⋅ −xx   [ 1= ]         

 
 

  : 5  
 

   : 479, 480, 481 
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  : ________ 
 

 :  . 
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 :       
 :        

 
 :  , , ,   

  
 :        

   : 
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 :   ,      

,       
:           , 

: . , . ,      , : 
. , . , .  

 :   
 

   
 

  : 5  
 
          . 
 
 

  : 35  
 
 
1)  : 

 
1) xxx 778 1 += −       [ 1= ]         
2) 11 7755 −− −=+ xxxx                           [ 1= ]         

3) 
49
772442 212

x
xxxx −=⋅++ −     [ 3= ]         

 
2)  : 

1) 08224 =−⋅+ xx     : 2,082,2 2 ==−+= tttt   ,    1=          
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2) 12553025 −⋅= xx                            [ 2,1 21 == ]            
 
3) 3437649 1 =⋅− +xx       [ 2= ]         

 
  

 
3)   : 

1) 016271284964 =⋅+⋅−⋅ xxx  :   16 ,   2,1 21 ==                          
2) xxx 365812163 ⋅=⋅+⋅     

 
 

  : 5  
 

   : 482, 485, 486. 
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  : 35  
 
1.  : 

1) 
3
2

3
2

3
4

3
2

8
3 2

⋅⋅=⋅
−− xxx

            [ 1= ]                             

2) ( ) 422
1

2

2
1

3 =⋅
−

+
x

xx   [ ,  , tx = ,   9= ]         

 
 
2.  : 

1) 122
7

2
1

3229 −++
−=− xxxx             [

2
3= ]              

2) 3
2

5
12

3
32

5
42

4545
xxxx

+=−
−−+
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3. ( ,   2013.)  

         x
x

x −
−

=⋅− 2274 2
3

 
 
4.   :  ) 02731391327 1 =−⋅+⋅− +xxx                    

) 2
1

545
−

=−
x

x  
 

  : 5  
 

   : 484 
 
 
 
 
 
 
 
 

   
 

   5 : 
 

         . 
 
 

  : 35  
 
1.  : 

a) 34223223 =−++
xx

            

 

:      
x

t += 223  ,  
223

1223
+

=− ,   

  341 =+
t

t          21217 +=t  ,   

  4=  
      

)  14487487 =−++
xx

 (   2= ) 

 
2.    :  
      xx 42 =                      02 21 =−+ xx                    1953 +=− xx  
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βα ctgtg =   βα tgctg = . 
 

1.   :  
 

) 
58cos2

58cos532sin +               ) 
80cos60cos40cos20cos

70sin50sin30sin10sin
⋅⋅⋅
⋅⋅⋅                 

) 
52cos3838sin
38cos52252sin

−+
−−

ctg
tg  

 
            : 5 . 
 

   : 
 
1)    24=c    60=α .  . 

2)   :  ) 
25sin2

65cos725sin5 +    

) 
4530
4560

tgtg
ctgctg

+
+       

) 
2070cos
7020sin

tg
ctg
⋅

⋅  

3)   b      = 32°   h = 12. 

α  αsin  αcos  αtg  αctg  

30° 2
1  

2
3  

3
3          3  

45° 
2
2  

2
2  1 1 

60° 
2
3  2

1          3  
3
3  
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   1cossin 22 =+ αα ,                ( )0cos
cos
sin ≠= α

α
ααtg ,               ( )0sin

sin
cos ≠= α

α
ααctg  

  : 35 . 
 

        
: 

1cossin

1

:/

22

22

2222

=+

=+

=+

αα
c
b

c
a

ccba

  α
α
α tg

b
a

c
b
c
a

===
cos
sin  
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1,
sin
cos,

cos
sin =⋅=⋅==

a
b

b
actgtgctgtg αα

α
αα

α
αα  

1.     ,   :  

           ) 
13
5sin =α                                 ) 

5
4=αtg                         

2. : 
2cossinsin

1cos2sin3
2

22

+⋅−
−+=

ααα
ααA ,   : 1=αtg .  

3.   1
cos2sin
cossin3 =

+
−

αα
αα   αtg . 

 1
cos2sin
cossin3 =

+
−

αα
αα ,   cos a,  1

2
13 =

+
−

α
α

tg
tg , . 

2
3=αtg . 

4.  :  ) 
α

α
α

α
sin

cos1
cos1

sin +=
−

                      

) ( )( )ααααα tgtg ++=+++ 1cos1cossin1  

                                       ) α
α

α
α

α 22
cos1

cos
cos1

cos ctg−=
−

−
+

 

  ) ( ) ( )
α

α
α

αα
α

αα
α
α

α
α

sin
cos1

sin
cos1sin

cos1
cos1sin

cos1
cos1

cos1
sin

22
+=+=

−
+=

+
+⋅

−
 

 

    ) ( ) ( ) ( )( )αα
α
αααααα tgtg ++=⋅+++=+++ 1cos1

cos
sincos1cos1cossin1  

    ) α
α

α
α

αααα
α

α
α

α 2
2

2

2

22

2
sin

cos2
cos1

coscoscoscos
cos1

cos
cos1

cos ctg−=−=
−

−−−=
−

−
+

 

5.  αsin    
81
1coscossin 422 =+− ααα .    [

3
1sin =α ] 

 
            : 5  
            
             :  
                

      1)    
ββ

αα
ctg

tgA
−

−=
cos

cos    6,0sin =α   90=+ βα .( 1−=A ) 

2) : ( ) ( ) 1cos90sin90cossin =⋅−+−⋅ αααα . 

3) : ) 
α

α 2
2

1
1cos
tg+

=         ) 
α

αα 2

2
2

1
sin

tg
tg
+

= . 

4)   : 
αα
αα

33

33

cossin5
cos4sin3

+
−=Y ,   atg =α . 
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1.     : 300º,  15º,  135º,  330º,  225º,  18º,  12º15',  18,5º,  6,4º. 

 ) radϕπ :300:180 00 =   radπ
3
53000 =  

2.     : 
2
π , 

12
π , 

2
3π , 

4
3π , 

12
7π , 

9
8π . 

3.     : 420º,  780º,  900º,  -120º,  -225º,  -840º. 

4.     : π4 , 
12
π− , 

2
3π− , 

4
3π− , 

12
32π , 

6
13π . 

5.       : 
)  10h               )  7h               )  9h 

 
            : 5  
           
             : 586, 587. 
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OM
MN

=αsin            
OM
ON

=αcos  .         M=1, : 

   
   MN=αsin              ON=αcos                       :  ( , )      y=αsin         x=αcos  

 
             1, 

      y=αsin     x=αcos  
,  : 

                    1sin1 ≤≤− α       1cos1 ≤≤− α    
 α  

 
         

  t1  t2 .     OM   
    P  Q.   tgα =AP, 

ctgα =CQ. 
                                                    
 

12cos

0
2

3cos

1cos

0
2

cos

10cos

=

=

−=

=

=

π

π
π

π

          

02sin

1
2

3sin

0sin

1
2

sin

00sin

=

−=

=

=

=

π

π
π

π

 

 
            

02
0
00

=
=
=

π
π

tg
tg
tg

             
0

2
3

0
2
π

π

ctg

ctg =
,         

2
3,

2
ππ tgtg , ππ 2,,0 ctgctgctg    .  

 
 

1.         
   (    ,   

   ):  
 

) 70º,-60º, 120º, -140º, 220º, 330º, 390º, 780º 

) 
5
π , 

6
π− , 

4
5π , 

6
7π , 

9
10π− , 

6
11π , 

3
14π , 

4
13π . 
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       α      
1) 0cos,0sin <> αα               2) 0cos,0sin << αα              3) 0cos,0 >< ααtg  

 
  : 30 . 

 
1.   :  

 ) 180cos290sin90sin3 4 −−                       [4] 

) 60cos245sin2
4

cos3 ⋅−⋅−⋅ π     [0] 

)  
( ) 1

2

30cos
3

6
31

−
−

⋅−

π

π

tg

tg
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 ) ( ) ( )270sin
1360cos

2
cos180sin 12

−
++⋅ −π   [2] 

 
2.     α         ) 2=αtg         

) 2−=αctg  
 

3.        
 α  :  

) 
3

2πα =              ) 
4

5πα =           ) 
6

5πα =               ) 
4
πα −=           ) 

3
4πα −=  

4.      π4    .         
3   40 ?     

 
5.      10sin5cos ⋅ ?  

 
  : 5  

          
         : 588, 589. 
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1.     ,   :  

           ) 
2
3sin −=α          παπ 2

2
3 <<                  

           ) 2,0cos −=α                     παπ <<
2

         

           ) 
3
2−=αtg      πα <<0                   

2.  : ) ( ) xx
xx

xxx
xx

x cossin
cossin

cossincos
cossin

sin
22

22

−=
−

+⋅−
−

                     

                                            ) ( ) ( ) xxtgxxctgxx cossin1cos1sin 33 +=+⋅++⋅  
                                           ) ( ) ( ) 1cossin2cossin3 6644 =+−+ xxxx  
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( ) ( ) ( )

( )( ) xx
xx

xxxx
xx

xxxxxx
xx

xxx
xx

x

cossin
cossin

cossincossin
cossin

cossincoscossinsin
cossin

cossincos
cossin

sin

22

22

22

22

22

22

−=
−

−+=

=
−

+⋅−+⋅=
−

+⋅−
−  

   ) 
( ) ( )

( )( ) xxxxxx
x

xxx
x

xxx

x
xx

x
xxtgxxctgxx

cossincossincossin
cos

sincoscos
sin

cossinsin

cos
sin1cos

sin
cos1sin1cos1sin

2233

3333

+=++=+⋅++⋅=

=+⋅++⋅=+⋅++⋅
 

           

   ) 
( ) ( )

( ) ( )( )
( ) ( )( ) 1cos2cossincossincoscos12cossin

coscossinsincossin2cossin3
cossin2cossin3

222222244

42242244

6644

=+−+=−++=
=+−+−+=

=+−+

xxxxxxxxx
xxxxxxxx

xxxx
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x
ctgx

x
cossin

1
cossin

cos
cossin

sin

cos
sin1

cos

sin
cos1

sin
1
cos

1
sin 22

+
=

+
+

+
=

+
+

+
=

+
+

+
             

            ) xxxx 2266 cossin3cossin ⋅++     [1] 

            ) 
xctg

xctg
xtg

xtg
2

2

2

2 1
1
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            ) ( )( ) xx
xx

xxxxxx
xx
xx cossin

cossin1
coscossinsincossin

cossin1
cossin 2233
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+
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            ) ( )( )ααα tgtg +−⋅ 11cos3  
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            ) ( )( ) αααααααααα 2222222244 sincoscossincossinsincossin =+−+=⋅+− ctg  
            ) ( )( ) ααααα cossin5212cos2 −++⋅ tgtg    [2] 
 

            : 5  
          

    : 620-624. 
 



  
 

217 
 

  : ______ 
 

 :     
 :  

 :  
 : ,  ,  . 
 : ,    

 :      
 :           

 
 :  , ,  ,  

    ,  ,   
  . 

 :      
   : 

2. .1.2.7.        
. 

2. .2.2.5.       . 
 :     ,   ,   
  ,    ,    
    
 :   ,      

,       
:           , 

: . , . ,      , : 
. , . , .  

          :   
 

            : 5  
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2
1

6
sin =π             

2
1

6
5sin =π             

2
1

6
7sin =π                   

2
1

6
11sin =π            

2
1

6
sin =− π  
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:       ( ) απα sin2sin =+ k              ( ) απα cos2cos =+ k                   Zk ∈  

                                   ( ) απα tgktg =+                    ( ) απα ctgkctg =+  
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  : ( ) αα sinsin −=−             ( ) αα coscos =−   
 
 
 
 
 
 
 
 
 

   :                 ( ) αα tgtg −=−            ( ) αα ctgctg −=−   
 

1.     :  

3
7π , 

4
9π ,

6
13π ,

6
5π− , 

3
5π− , 

3
13π . 

2.        5cos3sin2 =+ αα ? . 

3.     ( )210225405cos
420sin765sin

−⋅⋅
⋅

ctgtg
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   : 625-628. 
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        ππα k2
2
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       ααπ cos
2

sin =−                 ααπ sin
2

cos =−  

       ααπ ctgtg =−
2

                   ααπ tgctg =−
2

 

 
 

 
           

           ααπ cos
2

sin =+                 ααπ sin
2

cos −=+  

          ααπ ctgtg −=+
2

                  ααπ tgctg −=+
2

 

 
 

 
 
 
              ( ) ααπ sinsin =−                   ( ) ααπ coscos −=−  
               ( ) ααπ tgtg −=−                       ( ) ααπ ctgctg −=−  
 
 
 
 
 
 
 
             ( ) ααπ sinsin −=+                   ( ) ααπ coscos −=+  
             ( ) ααπ tgtg =+                         ( ) ααπ ctgctg =+  
 
 
 
 

         ααπ cos
2

3sin −=−                      ααπ sin
2

3cos −=−  

          ααπ ctgtg =−
2

3                          ααπ tgctg =−
2

3  
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             ααπ cos
2

3sin −=+                      ααπ sin
2

3cos =+  

          ααπ ctgtg −=+
2

3                          ααπ tgctg −=+
2

3  

 
 

 
 

 
                  ( ) ααπ sin2sin −=−                   ( ) ααπ cos2cos =−  
                  ( ) ααπ tgtg −=−2                       ( ) ααπ ctgctg −=−2  
 
 
 
 
 

 

 1.     : 
3

2π , 
4

3π ,
3

4π ,
6

7π , 
3

8π . 
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1) ( )
( ) 180cos70120cos90sin

90sin324sin110180cos
ctg

tg
α
α

+
⋅+  

2) ( ) ( ) ( ) ( )180cos90sin270cos90sin −−+−+ αααα  

3) ( ) ( )πααπαπαπ 2cos
2

3cos4sin
2

3sin −−−++  
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4) ( ) ( )
( ) ( )270cos90

360cos270sin
33

3

−−
−−

αα
αα

tg
 

5) ( )110cos160sin3130cos40sin2 −−−+  

6) ( )7cos5
263cos2173sin2727cos

−
+  

7) ( )
( )απ

απ

απ
απ

+

+
+

+

+
2

2

2

2 2
3

2
3sin

sin
ctg

tg
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1. ( ) +−−=+−+ απαπαπαπαπαπ
22

3sin
2

sin
2

3cos
2

sin ctgctg  

2. ( ) ( ) ( )απαπαππααπαπ −++=+−− 2coscos
2

sin
2

3sin
2

3 tgctg  

3. 1464544 =⋅⋅ tgtgtg  
4. 18070605040302010 =⋅⋅⋅⋅⋅⋅⋅ tgtgtgtgtgtgtgtg  

 
5. :  1) 225cos210sin13510 ⋅⋅ctg  
                       2) 405330225sin2 2 tgctg ⋅−  

                       3) ( )
570sin675

570cos1230
−

−
tg

ctg  

                       4) 
6

5sin
3

4cos
6

11cos
3

10sin ππππ +  

  
 

              : 5  
             

     : 634. , , ) 
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1. (  ,  2004.)    78cos66cos54cos36cos24cos12cos 222222 +++++  

2. (  ,  2005.)    
130cos

140sin450cos3 −  

3. (  ,  2003.)    ( )30135cos
120sin765sin
−⋅

⋅
ctg

 

4. (  ,  2005.)      ∈−= ππαα ,
2

,7tg ,   

: 
αα
αα

sin3cos
cossin3

−
+  

5. (  ,  2002.)      mctgxtgx =−    xctgxtg 33 −   
  m . 

6.    1000cos,100,100sin tg .    . 
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 1.   ( ) xxf sin=  

       .  
 

           :  ππππππ 3,2,,0,,2,3 −−−  
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       ( ) xxf sin=     -1  
  1. 

                                           −==−=−=− .....1
2

3sin,1
2

sin,1
2

sin,1
2

3sin ππππ  

 
 
 
 
 
 
 

 
 

      ( ) xxf sin=  

 
 

 ( ) xxf sin=      Rx ∈ .       
 .   ( ) xxf sin=    [ ]1,1− . 

       π2 . 
 
 
 
 
 
 
 
 

 ( ) xxf sin=   ,    Rx ∈  ( ) xx sinsin −=− .   
          . 

  ( ) xxf sin= ,   ,    =1  =-1. 
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 2.   ( ) xxf 2sin= .  
           

 .     
    .           

      π . 
 
 
 

 

 3.   ( ) = xxf
2
1sin . 

      
π4 . 

     
   .            

 
 

 
 

 
 4.   ( ) xxf cos=  

       . 
 
 

           :  ....
2

3,
2

,
2

,
2
3 ππππ −−  

       ,       
   cosx   -1  1.    (  

      )   :  
 

 
 
 
 
 
 

     ( ) xxf cos=       ( ) xxf sin=  

       
2
π .                               (   +=

2
sincos πxx  ) 

 
 ( ) xxf cos=      Rx ∈ .       

 .   ( ) xxf cos=    [ ]1,1− . 
       π2 . 
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 ( ) xxf cos=   ,    Rx ∈  ( ) xx coscos =− .     
        . 
  ( ) xxf cos= ,   ,    =1   

=-1. 
 

  : 5 . 
 

1.       

) ( ) xxf 2cos= ,  ) ( )
2

cos xxf =  
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https://phet.colorado.edu/sims/html/trig-tour/latest/trig-tour_en.html      
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 1.    ( ) tgxxf = .     

   .  −∈
2

.
2

ππx   ( )∞∞−∈ ,tgx  

 
 
 
 
 
 
 
 
 
 
 
 

       .  

∈
2

3.
2

ππx   ( )∞∞−∈ ,tgx     . 

 
 

  ( ) tgxxf =    ,  
  (  ): 

    (     )  
Zkk ∈,π  

 ππ kx +=
2

    ( ) tgxxf =  

 ( ) tgxxf =   ,      
      . 

   ,     
   . 

 
 

   ( ) tgxxf =   π  
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 2.        ( ) ctgxxf =     

. (  −−=
2
πxtgctgx ). 

 
1.    

       ) ( ) )32sin(
3
1 += xxf           

) ( ) )1
2

cos(2 −−= xxf               

) ( ) )14(2 += xtgxf  
 

2.     
) ( ) xxxf cossin 2 +=                      

) ( ) 2

2 3cossin
x

xxxf +=               

) ( )
tgx

xxxf cossin −=  
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   :  827, 829.   
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1. (831. )    ( )
x

xf
cos1
1

−
= .        

   ( ) −
4

,
3

,0 ππ fff . 

2. (836. )    +−=
4

sinsin πxxy  
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